ll.

.~ (2 B,CandD
- (3 AB,CandD )

] Gakhale 2 Rt Ut
- Bal Gangadhar Tilak ) AL

South India was the custodian of tho pufif |4

;:)lussical techniques of dance, In Andh
tImd(;zsh und‘ ’I‘t.nf\il Nadu, the devadasis kept
e dance tradition alive by performing solo
and dance-dramas., What are dance-dramas
called in South India ?

(8) Aalambana

(2) Angikn Abhinayn
(4)  Chhau nritya

Consider the following statements regarding
Sikhs :

A. A well of eighty-four steps built by Guru
Amar Das in Goindwal village has become
the first pilgrimage centre for the Sikhs.
Harmandir Sahib (Golden Temple) was
constructed by Guru Arjan Dev at
Amritsar in the year 15689. &

A high platform in front of H;ixjmandir
Sahib known as the Akal TakhtWas_ built
by Guru Hargobind. ok
Guru Gobind Singh introduced Khalsa’
and established himself in Anandpur, i 6.
the Siwalik range, in 1699. a9 "““L‘ i I Ty
‘Which of the above statements are ‘c,o‘n;égt;

(1) A,BandC

?

o

(4) AandB

1

“This diamond ’of Indfa, .thié ’Jewel
Maharashtra, this prince’ of workers .
Look at him and try to emulate him.” Who|

made this remark 'ial‘v)lb'ut,Gopf_ll;" .

wBOKPSIR

LUPSC Universe
=
Idontify the wrong pair/pairs ;
Authors Texin
A, Bhann « Dradira Charudntin

Dansakumaracharitrn

-

3, Dandin
¢, Subandhu
. Bharavi

(1) Bonly
(2) A and D only
(8) Cand D only
(4) A only

'Which among tho following pairs is not
~ correctly matched ?

A. Somnath Temple

B. Kandariya
Mahadeva Temple

C. Aihole Temple
D. Konark Temple

—

+ Vasavadatin
! Ravanavadha )‘
_—’

1

(4

Solankis
Chauhans

Badami Chalukyas
Chandelas

B a onl

( and D only

(4) A and B only

Congider the following statements about
Warangal fort and its inner constructions :

" A, Shitabkhan constructed ‘Kush Mahal’ in

' the fort of Warangal, which is a replica of

-~ ‘Hindola Mahal’ at Mandu.

“B. Pratapa Charitra, Siddeshwara Charitra

and Kridabhiramam contain interesting

descriptions on the fort of Warangal.

According to Pratapa Charitra, Warangal

fort contains 88 bastions or kottalamulu.

D. According to Sivayoga Saramu the
foundation of Warangal fort was laid by
Ganapatideva.

Which of the above statements are correct ?

(1) B and C only

(2) Cand D only

(8) AandDonly

ccording' to Ajivika philoéophy; ‘which is the

1,
(2) Mahatma Gandhi -+ central idea that determines the life of a
(3) G.V. Joshi OO 1) persoRifyl , ;

(14, ganty (1) Dharma’ (2) Artha

(4) BR.Nanda - 4 ' /(4) Karma
& 0. TV AL m

' 1G-0.422-T AR () &
; o R bbb .’ N it
v st i
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| 8.  Match the following :
i ‘-
} Painters | Mughal Rulers
. A. Mir Sayyid Ali I.  Humayun
B. Daswant =~ IL. Akbar
C. Ustad Mansur III. Jahangir
D. Mir Hashim IV. Shahjahan
Choose the correct answer : ‘
(1) A-II; B-IV; C-I; D-III
(2) A-I; B-III; C-II; D-IV
. : . D-II
4) A-I; BII CIII D-I
9.  According to Abul Fazal, Akbar started one

thousand karkhanas for producing woollen
clothes. At which among the following places

did he establish them ?
il a0re

~ (1) Dacca
(3) Amritsar (4) Surat |
Which of the following statements 1s/ar'e

correct ?
Arya Samaj was started in 1875 by Swaml

Dayanand Saraswati.
Vivekananda condemned ntuals.

superstitions.
The theosophists advocated the rev1va1

and strengthening of Hinduism. @ .
In 1920s, Akali Movement was started to
punfy Sikh Gurudwaras in Punjab
Choose the correct answer i
(1) A,Band D

2) B_.CandD
s, ConiD)
@ A BandC
“Tltutmish got erected two marble, sta

lions and bells hanged to their necks Anybody
could ring these :bells and seek justice from
the Sultan.” Who among the following vmters
rec sstatement" R |
1) Ibn Batuta i
(2) Isami

(8) Malik Qutb-ud d1n L

4) Mlnha_] -US-Sll'aJ

o b s i o e e

0,

nd

|

wBOkPsIR
*UPSC Universe
|

18. ' Identify the top three districts with highest

share of forest area to their total geographical

area in Telangana State- (2020 =
) Mulugu,

‘ a Bhadradri Kothagudem an

Kumuram Bheem Asifabad

(2) Mulugu, Kumuram Bheem Asifa
Bhadradri Kothagudem

(3) Bhadradri Kothagudem, Kumuram Bheem
Asifabad and Adilabad

(4) Mulugu, Jayashankar Bhupalpally and
Kumuram Bheem Asifabad

bad and

14. According to the 2011 Census, which of the

following* newly formed districts have more

than 40% urban population ?

Consider the following statements related to

I.'

(1) Sangareddy
o

~ (2)Peddapalli
(J (3) Mancherial )

%) Warangal

(1) Turklstan
(3) Arabia

(5

15.
IT industry in Telangana :
A Dunng 2014 — 15, the IT exports from
~ Telangana were worth ¥ 66,276 crore
_ which almost tripled to ¥ 1,83,569 crore
by 2021 - 22.
B. Through the Growth in Diversity policy,
‘;.th'e - Government ‘provides  special
Wity mcentlves to the compames that expand or -
set up their IT units beyond the western
part of Hyderabad.
Whic‘h‘o’f the above statements is/are correct ?
(2) Both A and B
(3) Neither A nor B
4) Aonly: b
¥ &
) o]
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18. Tuider Ted, 2 track of lowland redzimed from
Zfr’xiyofwmiﬁﬂ%m‘zxm&zermn
(1} Dykes
(2) Canyons
(3) Geysers
147 Polders

17. Consider the following statements related

Seuthern Telangana Agro-Climatic Zone ©

£ Medchzl-Malkaigiri, Wanaparthy,
Razngareddy and Vikarabed districts {211
wnder this zone,

, B. The znnuzl rzinfzll (June to May) ranges
from 610 to €50 mm. Minimum and

mazimum temperstures during summer
range between 32°C -38°C.

? C. This wne is predominantly underlam by
Alluvizl soils. ‘
Wbinhofthea}xﬂeetafememaremed?
(1) B znd C only :
(2) A and Conly
(3) A, Bznd C
(4) Aznd B onl

18, Match the following Modern Indlan

Lznguages (Family) with the Staf///UT

Language (Family) State [UT
A. Austric 1. Meghalaya
B. Dravidian 11, Kerala *
¢, SinoTibetan 111, Arunachal
Pradesh
D. Indo-European 1V, Jammu and
Kaghmir

Choose the correct answer :
(1) AIV; BAL, G111 DI

. B, C-11; D-IIT
4) A1, BAL CAIL D-IV
(4) A1, B-1; CAIL; DIV

)

160,422-T

% cS

121.

+UPSC Universe
|

locztion/type -

19.

Oczan Current Location/ Type

D. Agulhas current

Choose the correct 2nswer -

(1) A«III, BIV: CL DII
- D-II

4 A~II, B-III; C-IV; DI

20. TheC’en:usofIndmhasclasaﬁedtommto
*nmtegonesonthebaslsoftherrpopulan
Which of the following is not correctly

?

rf;ma.asmwwnswithao,ooom@

(2) Class V towns with :J,ODO to 9,999
population

(3) Class VI towns with less than 5,000
population

(4) Class 11 towns with 50,000 to 99,999
populatwn

Consider the following ‘statements related to

IgneouSrocks

A. Igneous rocks are granular or crystalline.

B. They do not have strata-like sedimentary

rocks. »
They are less affected by chemical

weathering.
D. Igneous rocks do not contain fossils.

Which of the above statements are correct ?
(1) Band Conly .
(2) B, C and D only

(3) A,B,Cand L

C.

$7)

(4) A and B only

%
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22. Consider the following statements regarding

Ken-Betwa River Link Project (KBLP) for
irrigation : ’
A. 1t is critical for the water security and

socio-economic development, of Purvanchal
region of Uttar Pradesh, .

The project involves the ﬁransfer of water
from the Betwa to the Ken River through
the construction of Daudhan Dam,

Which of the above statements is/are correct ?
(1) Bonly

(2)_Both A and B
Neither A no

(4) Aonly

i el e e st b it

8.

23. Consider the following pairs :

Iron and

State
Steel Plant
A. Bhilai Chhattisgarh
B. Bokaro * Jharkhand -
C. Dolvi Maharashtra
D. Daitari Odisha.

Identify the correctly mattched:pajrs.v;“
(1) B and C only ;

( d D only
BrapCani D

(4) A and B only

24.
‘Mascarene High’ and its influence over
monsoon rainfall in India : S

A. Mascarene High is a low prgSsure area
that is found around Mascarene Islands

Consider the following = statements’ about |

26.

26'

27.

(in South Indian Ocean) during monsoon 28.
period. '

B. Mascarene High is responsible for

- Cross-equatorial flow through South

Arabian Sea and it acts as southern
hemispheric linkage. * .

Which of the above statements is/are correct ?

I!I 'lll ! and B

(3) Neither A nor B

(4) A only

16-0.425. (9)

wOkPsIR

*U PSC Universe
Trade Infrastructure for Export - Scheme
oS inly i te
(17 Ministry of Commerce and Indu‘sty
ent of India

(2) Ministry of Finance, Government of.In.dla

(3) Ministry of Roads and Buildings,
Government of India .

(4) Ministry of Shipping, Government of India

In relation to the organisational framework of

the NITI Aayog, which of the following is not

matched correctly ?
(1) Part-time Members : Maximum Two

Chief Executive Officer : Appointed by the
President for a three-

(4) Chairperson : Prime Minister of India

Consider the following statements in relation
to the Foreign Trade Policy of the Government
of India :

A. Foreign Trade Policy is a set of guidelines

and instructions established by the
Directorate General of - Foreign Trade
(DGFT) in matters related to the import
and export of goods in India.

. The Government of 'India, Ministry of
Finance announces Export. Import Policy

every five years.

Which of the above statements is/are correct ?
(1) B only
(2) Both A and B

The services of Health and Wellness Centres
(HWCs) under Ayushman Bharat include :

A. Care in pregnancy and childbirth

B. Management of Communicable Diseases
C. Basic Oral Health Care

D. Screening and basic management of
mental health ailments

Choose the correct answer :

(1) A and B only

(2) A only

(4) A, B, C an

e
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29. What are the objectives of the Development
Monitoring and Evaluation Office (DMEO) ?
A. Develop centrahsed depository of data
informatics

Enable data-driven policy making

Institutionalising rigorous tracking of

B.

C.
performance metrics

D.

Strengthemng the whole ecosystem to

mainstream rigorous outcome monitoring
and evaluation

Choose the correct answer :
(1) A, C and D only

Which of the following recommended for the
establishment of the Public Record Offices as
an independent authority by both, the

- Government  of Indla and State
Governments ?

(1) The NITI Aayog Task Force on Good

.Gover
(2) Second Admlmstratm
. Comm15s1on .

(3) The Parliamentary Joint Workmg Group

30.

on Right to Information *
~(4) Supreme Court judgement on Gmsh
~ Ramchandra - Deshpande - vs. Central

Information Commission ; ‘
Consider . the followmg in relatlon to the

31.
MGNREGA : : ‘
A. Wage seekers are the p‘f_iniary

stakeholders of the MGNREGA. =
The Field Officer recommends the _works
to be taken up under MGNREGA

Gram Sabha conducts social | audlt on
1mplementatlon of the scheme. :

‘Which of the above statements 1s/are correct ?
(1)AandCon ' . e
(2 5 and C ) b |

3) C only

(4) A and B only :

Which of the following is not matched
correctly in relation to the year of enactmg ?
(1) 2005 : The: MGNREG Act

B.

C.

. The National Food Security
(4) 2005 : The nght to Informa

E1(30422T

33.

34.

35.

(11)

wHkPsIR
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——
Who among the following were the members
of the Constituent Assembly of India ?
A. Amarjit Kaur
B. Begum Aizaz Rasul
‘C. Hansa Jivraj Mehta
D. Kamala Mukherjee
E. Renuka Ray

Choose the correct answer :
(1) A, C and D only

(2) B,C and E onB§

3) B,C, D and E only
'4) A,B,D and E only

_ Consider the in relation to

‘Operation Blue Star’ :

A. It was the biggest internal security
mlsswn undertaken by the Indian Army.

following

~ B. It was aimed at removmg Sikh militants
who were accumulating weapons in the
Harmandir Sahib Complex.

C. Operation Blue Star was carried out
between 1% and 8™ July, 1985 in
Amritsar. ' $

Which of the above statements is/are correct ?

(1) A,Band C

(2) B and C only

(3) Bonly

) A and B onl

Which of the following is not an appellate
jurisdiction of the Supreme Court of India ?

(1) Cases involving interpretation of the

Constitution
(2) Civil cases, irrespective of ‘any
constltutlonal questlon '
3) Cnmmal cases, irrespective of any

constitutional question

4) Cases. involving dlsputes between two o

more States
@ﬁm
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36. Who among tho following shall not bo

37!

38,

.
¥,

16-0.420-T

. B. Prime Ministor

. C. One-twelfth shall be elected by electorates

answerable to any court for the oxorcise and

performance of powers and dution of thelr
offico ?
A. President

C. Law Ministor

D. Governor of a Statoe
Choose the correct answeor :
(1) A.and B only

(3) A, B and D only
(4) A, B and C only

Consider the following : oo

A. The prevention of concentration of wealth
to the common determinant

B. The protection of childhood and youth
against exploitation

C. Adequate means of hvehhood to all
citizens A !

D. A proper distribution of the matcnal
resources of the commumty I'or common
good { . Ko

e Constitution :
(8) Fifth Schedule of the Constltutlon 4 |
(4) Fundamental Rights of the Constltutlon

Consider the following in relatlon to the

Legislative Council : : o A
A. The Council . is a permanent house and
one-third of the members retn'e in two

years.

B. Members of local bodies elect one-thlrd of
the total number of mcmbers ‘of the
Legislative Council.

consisting "of graduates of 'three years
standing, residing in the State.
Which of the above statements are correct (d

(1) A and B only
(2) A and C only
(3) B and C only
4) A7Band C_

a9,

40,

41.

(13)

wHkPsIR
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Whon thero Is n challenge to the legality of
detention
tho

(2) the writ of mandamus is filed
(8) the writ of quo warranto is filed
(4) the writ of cortiorari is filed

hang corpu ile

Consider the following statements :

A. The Constitution commands justice,
liberty, equality and fraternity as supreme
values to usher in the egalitarian gocial,
economic and political democracy.

B. To establish an egalitarian social order,
the trinity, the preamble, the fundamental
rights and the directive principles of
state policy delineate the path for
gocio-economic justice.

Which of the above statements is/are correct ?

(1) B only

oth A and
(3) Neither A nor B

(4) A only

of the
respective

following  Articles
with their

Match  the

Constitution

provisions :
Article

A. Article-19° 1.

Provision

Freedom to manage
religious affairs subject to
public order

Prohibition of traffic in
human beings and forced
labour

Protection of certain
rights regarding freedom
of speech

Protection against arrest
and detention in certain
cases -

V. Protectinn of life and
personal liberty

B. Article-21 1II.
C. Article-23 III.
D. Article-26 1IV.
Choose the correct answer :

(1) A-IV; B-IIL; C-I; D-II
(2) A-V; B-IV; C-II; D-III

||E
=

www.kpsirupsc.com, 21st Century IAS Academy (Inter+lAS, Degree+IAS) & Direct IAS



42. The TSR Subramanian Committee (2014) is
associated with which of the fallg '

r@
) Review the processes, laws and acts of the

Ministry of Environment, Forests: and
imate Change

(2) Dissolution of the Muslim Marriage Act

(3) Rgv;:ew the process, laws and acts of the
Ministry of Human Resource Development

(4) Indian efforts to counter internal and
external terrorism

43.  Consider the following statements :

A. To be able to discharge the constitutional
obligations fairly and impartially, the
Governor should not be ‘burdened - with

. positions and powers which are not
envisaged by the Constitution,

B. Making the Governor the Chancellor of the
Universities and  thereby conferring
powers on him/her which may have had
some relevance historically has ceased to
be so with the change of times and

.~ circumstances. < ik S _
The above are the part of re‘édniiﬁeﬂdations of
the following : e
(1) Kothari Commission '«

15
)

(2) New Education Policy = 20‘20:‘;‘ :\3.‘(

i

o

A. Article 356 in the Constitut;i_o‘t};‘__,'”H,.'iv1
deals with the p’roclamation‘ ofﬁggnmal

emergency. . 13

B. During the proclamation of . financial
_emergency, the President can suspend
provision relating to the division’ of ‘the
taxes between the Union and the States.’

" Which of the above statements is/are'-corrépt ?

/

(1) Bonly: % iy i 42 S AR
(2) Both A and B ‘ el R

Neither Anor By
(4) Aonty—

G-0.422.T i e ! Aataal 15 )

wHkPsIR
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The product of the ages of Ram and Shyam is
240. If twice the age of Shyam is more than
Ram’s age by 4 years, what is Shyam’s age ?
(in years)

W 20 24

37 44

The following figure has been folded to make a

box. Choose the right box that can be formed
from the given figure.

2

91 1

4

(1) (2)

@)L (4)

Two statements followed by four conclusions
numbered I, II, III and IV are given below.
Read the statements carefully and then decide
which of the given conclusions logically follows
the given statements, disregarding the
commonly known facts.

Statements :
No tiger is elephant.
All elephants are lions.

Conclusions :

I.  Some lions are tigers.

II. ~ All lions are tigers.

III. Some lions are elephants.

IV. Some lions are not elephants.

(1) Only conclusions I, II and TII follow
27 Only conclusions III and IV follow)
(3)  Only conclusions II, III and IV follow
(e ‘Oniy.cqnclusions I and II follow
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. A man showed the photograph of a boy and
said, “The boy in the photograph is the son of
the daughter of the father of my brother.”
How is the man related to the boy in the
photograph ?
(1) Brother
(8) Grandfather

(2) Maternal uncl
(4) Father
Ramu said to his son Raghav, “I was half
your present age when you were born.” If the
present age of Ramu is 60 years, what was the
age of the Ramu, when Raghav was born’?
(in years)
(1) 22
3) 19
If25#5=510@2 =20, 5& 3 = 8 and
10 $ 6 = 4, then ﬁhd‘ the value of the
following : ‘ e
20$6@1&(20#1
(1) 18
3) 22

0)

following series ?
1, 8, 15, 22, ...

(1) 759

(3) 742

A B, C, D, E and F are places belongmg to
different groups or possessmg dlﬂ'erent
identities. A is not a hill station. B’ and E are
not historical places. D. ‘and F are not
industrial cities. A and D are not hlstoncal
places. A and B are alike. “Which clty is an
industrial city and a hill station but not a
historical place ?

(4) 750

,' @F :
. ®cC 4) B | !

' What is the mlssmg term m the following
- series ? i | )
ANBO,

' DQER FSGT
(1) CRGT

wOKPSIR
UPSC Universe
|

’ What is the missing number in the following
series ?
7, 8, 20, ?, 292, 1485

Lo

Identify the number which does not fit in the

following series :
96
(2) 2497

(2) 45
(4) 50

J

5,12, 51, 311, 2497, 24

(1) 311
(3) 24961 (4) 51
@ IfP=+,Q=x,R=+%+,S=-and T = ‘% of’,
‘ _then the value of ' '
. 225Q3R15S20P67S20T 160=
'(2) 55
@ @) 45
‘In a certain code language, the word

GENETICS is coded as HCQAYCJK. What is
the code for ANALYTICS in the same

langy
(1) BLDHDNPVB

(2) BLDHENPUB
(3) BLDDHNPVB
' (4) BLDDHNPUB

If 15t June, 2023 falls on Thursday, what will
be the week-day on g4th October, 2028 ?

58.

(1) Thursday
(2
(8) Tuesday

(4) Wednesday

ida

59. Find the next term in the following series :

(1) 5940

3) CPBO

G-0.420.7 t

9, 45, 13'5, 74:25, 594, ?
. (2) 6534
(3) 6831 (4) 6237

| 2 -
LN

17)
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60.. A watch loses 5 minuteg

set right at 8 AM on a We

it show the correct time ag

(1) 8 PMon Tuesday

(2) 8 AM on Wednesday
M on Wednesday

4) 8 AM on Tues

A large cube'is painted on g

is cut into a certain numb

er
identical cubes. It was found that (:;n:rr:]galtl}?:
sma’ller cubes, there were eight cubes which
don’t have any faces painted. How many small
cubes have exactly two faces painted ?
(1) 12 (2) 18

? (4) 6 /
62. If AB39 + C6B8B =4292C, what is the value
of A + 2B + 3C ? (Three alphabets A, B and C
represent three different digits from 1 to 9. No

every hour and was

dnesday When will
ain ?.

61. 11 six faces. Now it

25N

number is represented by more than one|

alphabet) :
(1) 24 (2121«
3) 22.

65.

(19)

63. In a certain code language’ SORT is coded as
2169, TEST is coded as 5122, DOG is coded as
368 and GOAT is coded as 6243 What will be
the code of ROAST in the sgxms

- (1) 64829 |
(3) 49623 (4) 91463 &

64. The following bar chart shows the monthly |
expenditure of a family (in- ¥ thousands) for
five months for two years. What is the ratio

between the average monthly spendlng of |

| 2021and 2022? ‘

Monthly Expendlture of a Family

W 2021 EI2022 ;
o 1 51
501
. 404
30+
20+
10-
January February March. April May
(1) 34:39 @) 32:37
(3) 37T (4) 83:37
1G-0.422-T

66.

67.

«OKPSIR
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Consider the following statements related to
women’s work :
A. According to an OECD report, women

spend between two to ten times more time
on care work than men.

According to the 2019 NSS Report, women
spend 299 minutes a day on unpaid
domestic services while men spend 97
minutes.

According to the Global Gender Gap
Report (2021) only 22:3% women in India
participate in the labour market.

Pradhan  Mantri Gramin  Digital
Saksharta Abhiyaan (PMGDISHA) aims to
enable women in rural areas to spend
more time in care work at home.

Which of the above statements are correct ?
(1) A, B and D only

(2) A, C and D only

3).AB

(@) A, B and Conly

The Child (Prohibition
Regulation) Act, 1986 was recommended by

Labour and

(1) Kothari Commission
(2) Narasimh

) Gurupadswamy Committee

ittee

. (4) Dave Committee

As per the Transgender Persons (Protection of
Rights) Act, 2019, who;among the following
can issue the certificate of identity for a
tfansgender person ? .
(1) The Medical Superintendent of the area

hospital
<(2) The Dlstnct Magl@ ,

(8) The elected Sarpanch of the village or the
Chalrperson in case of Municipality

(4) The ' Chief Medical Officer of the area
hospital ;

0]

E2E
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68. The Inte

__Children (

(2) 1984
(3) 1994
(4) 1970

grated Education for Disabled
IEDC) scheme was launched in

69. Gender equality contributes to

A. Achieving peaceful
communities

~ and resilient

B. Sustainable development
C. Economic growth

D. Women dominance

Which of the above are correct 2
‘(1) A, Cand D only

(2) A, B and D only

(3) A.B,CandD

¢ (4) A,Band Conly )

70. Clause 9 of the Prohibition of rEm>p103'7ment as
Manual Scavengers and their Rehabilitation
Act, 2013 states that :

(1) The violator of the provisions of clause 6 :

shall be punished with imprisonment for a
term which may extend to two years or
with fine which may extend to two lakh
rupees i :

(2) The violator of the provisions of clause 7
shall be punished with imprisonment for a
term which may extend to two years or
with fine which may extend to two lakh,

ees or with both

(3) The violator of the provisions of clause 8
shall be punished with imprisonment for a
term which may extend to two years or
with fine which may extend to two lakh
rupees or with both 3 . .

. (4) The violator of the provisions of clause 5
" shall be punished with imprisonment for a
term which may extend to two years or
with fine which may extend to two lakh
rupees or with both

A s

I Na
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71.. Consider the following statements on Tribal

Sub-Plan (TSP) :

A. Tribal Sub-Plan came into existence in
1974 - 75.

After the merger of Plan and Non-Plan,
the TSP was renamed as Scheduled Tribe
Component (STC) by the Ministry of
Tribal Affairs. :
State Governments have to earmark TSP
funds in proportion to ST population
(Census 2011) in the State with respect to
Total State Plan.

In FY 2018 — 19, the monitoring of STC
plan was given to Ministry of Tribal
Affairs.

Which of the above statements are correct ?
(1) A, B and D only

only
3) A,B,CandD
y

B.

D.

72.

Match the following :
Sustainable Targets
Development
Goals (SDGs)
A. SDG Target 1. Reduce the global
2-2 ‘maternal mortality
" ratio to less than
70 per 1,00,000 live
births
B. SDG Target II. Ensure universal
31 access to sexual and
reproductive
health-care services
C. SDG Target III. End all forms of
33 malnutrition
D. SDG Target IV. End the epidemics of
37 . AIDS, tuberculosis,
malaria and
neglected tropical
diseases

t answer : :
dl) A-IIT; B-I; C-IV; D-ﬂ)

(2) A-ITL, BT, C-IL; D-IV
(3) AIIL; B-IV; C-I; D-IT
(4) A-II; B-I; C-IV; D-III
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73.  Consider the following pairs : 77.  What is meant by ‘Panjatan-e-Pak’ ? .
Churches : Location in “(1) Five important duties of Muslims carried
: in the emblem i.e., ‘Alam’ created in the
Hyderabad eccan between 15th and 16th centuries.
A. St. John’s Church : Bolarum (2) According to the Shia faith o Islam 1
. ' ) . means the five pure persons. i.e.,
B. Holy Trinity Church Tirumalagiri Mohammad, Alj, Fathima, Hasan and
C. St. Mary’s Church . Secunderabad .I-Iussain. These names were incorporated
: ; am.
D. St.George’s Church Abids ‘ (3) Five .important festivals celebrated by the
Choose the correct pair : Muslims of Deccan.
(1) Band C (4) Five important duties to be performed by
every Muslim.
¢ (3) Aand D ’ 78. ‘Shivayogasaram’ gives details about the
(4) AandB e family  history  of which  Kakatiya

: | ; subordinates ?

74. During the Qutb Shahi period, both the Hindu (1) Cheraku Chiefs

; and Muslim elite wore dresses consisting of| (2) Kota Chiefs
Kulah and Qaba. What do these two terms i

mean.?. (4) Induluri Chiefs |
"(l) 'I‘r(.msers and b.elt 79. Consider the following statements of Kakatiya
(2) Shirt and dhoti - ‘ : period : L
- 3) =DAr d tie oL B 1 A. The usual way of representing the people
Cap and long coa . ' - in general during the Kakatiya period is
| ! _ by mentioning them as ‘Ashtadasapraja’.

5. What was introduced by the Zoroastrian Irani B. People of this period led a corporate life.
immigrants in Hyderabad during the early| -~ C. During Kakatiya period individual castes
19th 9 e \ 7 ' organized their corporate associations

s 19" century ¢ g i called ‘Samayachara’ to look after their
(1) Haleem S , well-being.
(2) Khubani ka Meetha - 3 D. The Brahmin villages were generally
‘ formed into an association called
. . ‘ ‘Asamkhyatulu’. _
(4) Biryani W i A : ' Which of the ‘above statements are not
s ; 5 correct ? '

. During Kakatiya period, three Acharyas were : (1) Band C

~ popularly known as ‘Pandita-traya’. Identify 2) Cand D

L the ;

(1) 'Sripati Pandita, Mallikarjuna Pandita anEP ' (4) Aand B

‘ nchana Pandita — ...~ |80. Which among the following was considered as
(2) Visvesvara Pandita, Mallikarjuna Pandita | - the main occupation of Dependent Castes
and Manchana Pandita Vi (Aasrita Kulalu) in Telangana ?
(3) Sripati Pandita, Palkuriki Somanatha and (1 ating
Manchana Pandita | D) Beggind
(4) Mallikarjuna Pandita, }’alkuriki (3) Podu Cultivation
Somanatha and Visvesvara Pandita | . (4) Knitting mats and baskets
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gl. Consider the following pairs in relation to|83. Which of the following statements related to
incentives offered under Telangana Textiles f Telangana State
and Apparel Policy 2017 — 22 : ® Rythu Bandhu Scheme of Telang
I tive Tvpe . is/are correct ? ]
necen ; :
e pe (REREE A. In 2020 — 21 Telangana budget, 654% of
A. Capital subsidy : Up to T 40 crore agricultural budget was earmarked for
B. Interest subsidy ! 6% per annum Rythu Bandhu Scheme.
e for 8 years ~ B. In 2020 — 21 Telangana budget, 7-7% of
C. Power subsidy . : Upto ¥ 15 per total budget was earmarked for Rythu
wish Bandhu Scheme.
C. Telangana government launched Rythu
D. SGST 5
5 : 100%it el years Bandhu Scheme in 2016.
reimbursement
D. In the year 2020, 80% of Rythu Bandhu
Which of the above given pairs are correctly |- Scheme beneficiaries were marginal and
matched ? small farmers.

ose the correct answer :

(1) B and D only

v e < (1) Bonly>
L 2 AandD only Py i ; (2) A, BandD only

B A,B,CandD_ .. byl sl (3) Aand Conly
| ' e o (4) Dionly

(4) A and C only

\ ‘ _84.' Match the following in relation to the
broad pillars of the Telangana Innovation

82.
: - bl o Policy — 2016 :
based on the sectorwise TS-iPASS investment y
; iy, i Name of Pillar Pillar
(in ¥ crores)in 2020-21: .~ - : Number
A. Solar and other renewable.'ene‘l‘gvy‘.p“ [ 1 A Human Capital . . Que
' ; o L B. Physical Infrastructure II.  Three
B. Thermal Power Plants ST and Programme
C.  Fertilizers ‘ g o R Management Capabilities
D. Pharmaceuticals and Chemicals = C. Funding Modelsand ~ III. Two
Ch ' i il VA Capital
‘oose the correct order : o D. Engagement with IV. Four
(1) B,A, D, C - Industry

Choose the correct answer :

(1) A-II; B-I; C-IIT; D-IY
b ' (2) A-II; B-IL; C-I; DIV
B B,C,D, A e (8) AIIT; BIV; C-IL; DI
| fi) i @) AT; BAIL; C-IV; D-III

@) C,D,B, A

).422-T il o B ‘ ' oY

woA
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85, Consider the following statements related to

Industrial Corridor Development Programme
in India :

A. Government of India hag adopted the
strategy of developing industrial corridors

in partnership with State Governments
and private investors,

B. The objective of this programme is to
develop Greenfield " Industrial
regions/areas/nodes  with  gsustainable
infrastructure and ensure plug and play
infrastructure at the plot level.

Which of the above statements is/are true ?

(1) Aonly i

2) Both A an

(3) Neither A nor B

(4) B only

Match the following items of India’s
trade with value of foreign trade 'during
April - November 2021 :

“Items of Trade | leue of Foreign
Trade
(in USD Billions
approximately)
A. Non-Petroleum I. 200 ]
exports
B. Non-Petroleum  II, 231
imports ’
C. Non-Petroleum, . III. 285
Non-Gems and !
Jewellery exports.
D. Non-Petroleum, IV, 226

Non-Gems and

Jewellery imports :
Choose the correct answer from the following :
(1) A-I1; B-I; ¢-Iv; D-III
(2) Al A

1G-0.425.7

(27)
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87. Arrange the following States, among the
bigger States, whose population densities
were the highest as per the Census of India
2011, in descending order :

A. Bihar

C. Haryana

E. West Bengal

Choose the correct order :

(1) B,E,C,D,A 2 éEi B, D; s!)
4) D,A,B,C,E

(3) A,D,E,B,C

Match the following States with child sex ratio
(0 — 6 years) of these States in 2011 as per the
2011 Census :

State

B. Kerala
- D. Uttar Pradesh

88.

Child sex ratio
(0 — 6 years)
941

888

A. Haryana L
B. Rajasthan II.
C. Arunachal Pradesh III. 834
D. Odisha IV. 972

Choose the correct answer : _
(1) A-III; B-II; C-IV; D-
(2) A-IV; B-I; C-III; D-II

(3) A-I; B-1IvV; C-II; D-III
(4) A-II; B-III; C-I; D-IV

89. Consider the following pairs :

A. PM-MITRA : Related to.

' Scheme improving transport
facility

B. Udyami Bharat : Related to MSMEs

Scheme

C. RAMP Scheme : Related to large
scale
manufacturing

sector

D." Phase-Il of FAME : Related to giving

India push to electric
vehicles in public
transport

Which of the above given pairs are correctly
matched ?
(1) A_C and D only
2) B-and D onl
(3) Aonly

(4) B and C only

%
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91.

92,
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Arrange the following States in ascending
order based on amount of subsidy (in ¥ crores)
released to these States by the Central
Government in the year 2021 - 22 under
North East Industrial and Investment
Promotion Policy — 2007 :

A.. Arunachal Pradesh
B. Manipur

C. Meghalaya

D. Mizoram

Choose the correct answer from the following :
(1) A,D,B,C

222 C: B: A:D

(4) D,A,C,B - ¢

Arri‘mge in ascending order the annual growth
rate (%) of the following products in 2021 — 22
for National Industrial Classification 2-digit

category : .

A. Manufacture of food products

B. Manufacture of rubber and plastic
products

C. Manufacture of chemlcals and chemical
products

D.
Choose the correct answer from the following :
1) B,C,D,A

(2) D,C,A,B

3) A,B.D,C
"C,A,B,D

. Arrange the following programmes/schemes in
chronological order based .  on
launching/implementation year of these
programmes/schemes

A, Pradhan Mantri Awas YQ) ana (Urban)

B. PM Street Vendor’s AtmaNlrbhar Nidhi

C. Deendayal Antyodaya Yojana — National
Rural Livelihoods Mission

Manufacture of electrical equlpment

D. Pradhan Mantri Jan Dhan Yojana

ect'answer from the following :
cpap (2 D,C,B,A

(4) A,C,D,B

196.

(29)

wBOkPsIR
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As per the annual report of NITI Aayog
2021 - 22, which of the following is not a
domain of State Health Index of NITI Aayog ?
(1) Governance and information

93.

(3) Key inputs/processes
(4) Health outcomes

'Which of the following statements related to
Soil Health Card Scheme of the Central

Government are true ?
A. This scheme was introduced in the year

94.

2014 - 15.
B. In Cycle-I of this scheme, around
. 10-74 crore cards have been issued to
farmers.

.C. In Cycle-Il of this - scheme, around
12:47 crore cards have been issued to
farmers.

D. Under Model ‘Village Programme, around

3 crore cards have been issued to farmers.

oose the correct answer from the following :
(1) A and B only
(2) B, Cand D only : '

(3) A and D only
(4) B and C only

Which of the following are true in relation to

‘Make in India’ initiative ?

A. To facilitate investment

B. To foster innovation

C. To make India a hub for manufacturing,
design and innovation

D. To build best in class infrastructure

Choose the correct answer from the following :

(1) C.and D only

(3) B, C and D only

(4) A and B only

95.

‘To increase the availability and reduce cost of
fertilisers, the Central  Government
introduced ‘One Nation, One Fertiliser’ under
(1) “Vishala Bharat’ brand name

(2) ‘Ekta Bharat’ brand name

(3)_Samaikya Bharat’ brand name

4) ‘Bharat’ brand nanB
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In the context of air pollination in cities of

India, choose the correct order of pollution in

descending order for 2022 :

A. Bhiwadi

C. Darbhanga

Choose the correct order :

1 - (1) Darbhanga — Ghaziabad - Bhiwadi -
Delhi -

(2) New Delhi — Bhiwadi - Darbhanga -

salaod

97.

B. New Delhi
D. Ghaziabad

New

(3) Bhiwadi — Darbhanga - New Delhi )

Ghaziabad

aziabad - Darbhanga — New Delhi -
Bhiwadi

98. Which of the following is not a geolog-wal hazard ?

(1) Tropical cyclone
@) Mine firs

(3) Volcano eruption
; 99. Consider the following statements :

: A. The National Disaster Management Act was
E . enacted in 2005.
;
!

@

B. The National Disaster Management Authority
(NDMA) is headed by the Prime Minister.

l C. State Disaster Management Authority

: (SDMA) is headed by the Chief Minister.

f Which of the above statements is/are correct ? -

By (2) AandBonly

3) A,Band C (4) Aonly

E, 100. The following three important global events
] took place in 2005 :

3 A. Paris Agreement on Climate Change, Paris °
| B. The Third International . Conference on
é Financing for Development, Addis Ababa

» C. Adoption Development
: Agenda, New York
Choose the correct order o
(1) B,A,C
3) C,AB

of Sustainable

surrence :

(4) A, ’
- 101. Consider the following statements :

: A. Global surface temperature was 1:09°C
(0-95°C - 1-20°C) higher in the 'decade
2011 - 2020 than in 1850 — 1900.

The global temperature increase
is larger over the land
1:-59°C [1:34°C - 1-83°C] than over the
ocean 0-88°C [0:68°C — 1:01°C].

Which of the above statements is/are correct ?

" (1) Ban
) Both A and B
Neither A nor B

B.

(4) A only

16-0.422-T

(381)
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102. Arrange the following events in chronologlcal
order from earliest to latest :

A. Rio Earth Summit

B. Sendai Framework for Action
C. Hyogo Framework for Action
D. Yokohama Strategy

Choose the correct order :

(1) B,C,D,A (2 C,D,A,B
3) A,D,C,B (4) A,B,C,D

103. Consider the following statements :

A. A deadly earthquake occurred in Bhuj,
Gujarat.

B. More than 20,000 people lost their lives in
the earthquake.

C. The earthquake occurred on the
Independence Day, 2001.

D. Smriti Van Memorial for earthquake

victims was inaugurated by the Prime
Minister in August 2022 at Bhuj.

Which of the above statements are correct ?
(1) ‘A, B and.C only

(2) B and D onl
#‘E-) A, B and D only
(4) A and B only

104 In the context of effect of global Warmmg, A

match the following :
Effect Country | Region
A. Bush fires I. Antarctica
B. Locust swarming II. Arctic
C. Heat wave III. Africa — Middle :
East
D. Permafrost melt IV. Australia— USA

Choose the correct answer :
(1) A-I; B-IV; C-III; D-II
(2) A-ITL; B-IV; C-I; D-II
(3) A- '
(4) A-IV; B-IIL; C-I; D-II
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105. Consider the following statements in relation
to the Tibetan issue :

A. When thha announced that it would be
occupying Tibet, India sent a letter of

protest proposing negotiations on the Tibet
issue.

Ix} 1954: China and India concluded the
Five Principles of Peaceful Coexistence,
under which India acknowledged Chinese
rule in Tibet. ’

Which of the above statements is/are correct ?

(1) Bonl
(3) Neither A nor B
(4) A only

106. Consider the following statements in relation
to the G-20 :

© A. The G-20 was founded in 1999 as a forum
for the Finance Ministers and Central
Bank Governors.

The G-20° was upgraded to the level of
Heads of State/Government in 2010.

The expanded agenda of G-20 includes
trade, sustainable development, health,
agriculture, energy, environment, climate
change and anti-corruption.

Which of the above statements are correct ?
(1) A,Band C

(2) B and C onl

(4) A and B only

107. Arrange the following Second World. War
events in the chronological order : !
A. Normandy Campaign in Western France

. German — Soviet Non-aggression Pact

The American atomic bombing of
Hiroshima and Nagasaki

Japan’s attack on Pearl Harbour

The Battle of Stalingrad

Choose the correct order :

(2) E,B,D,A,C

4) D,C,AE, B

C. 3 B,D,EA,C )

1G-0.422-7
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108. Match the following UN specialised agencies

with their headquarters :
Agency Headquarter
A. FAO I. New York
B. UNIDO II. Geneva
C. ILO II1. Rome
D. UNESCO IV. Paris
V. Vienna

Choose the correct answer :
@) AL BL CIV; DV

(2) A-V; B-IV; C-; D-I
&(3) A-1II; B-V; C-I; D-IVD

(4) A-IV; B-III; C-II; DI

109. The following was the major confrontation
that brought the United States and the Soviet
Union close to war :
(1)
2) Cuban Missile Crisis
(3) Angolan Civil War
(4) Congo Crisis

al Crisis

110. Which of the' following pairs are matched

correctly ?

A. ASEAN Bangkok, Thailand
Secretariat :

B. SAARC Kathmandu, Nepal
Secretariat

C. European Union Brussels, Belgium
(EU)

D. African Union Addis Ababa,
(AU) Ethiopia

Choose the correct answer :

(1) A B,Cand D
@, Cand Don

(3) A and B only

(4‘}) A, B and C only

, EIRE
(33) gh
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Salhoutuonuo Kruse is/are correct ?
A. She was one of the first women to be

elected to the 60-member Nagaland
Assembly.

B. She was sworn in as the ﬁrst woman
minister of Nagaland..

C. She has been allotted the portfolio of

111. Which of the following statements ab0\<

Educatlon
----- arrect answer ;
(2) A only
(3) B and C only (4) A,Band C

112. The Kerala Shipping and Inland Navigation

Corporation (KSINC) has introduced the first
solar-powered, double-decked, hybrid boat for
the promotion of tourism in the State in April

023, What is the name of the boat ?
(2) Soorya Nakshatra
. (3) Sooryodayam (4) Soorya Ratham

113. A ‘Six-Nation Cycling Expedition 2023’ was
. carried out by a team .of the National Institute
of Mountaineering and - Adventure Sports

(NIMAS) from January to March 2023. Which

wOKkPSIR
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5. (onsider the following statements in relation

to the RBI's working paper “States’ Fiscal

Performance and Yield Spreads on Market

Borrowings in India”, released in January

2023 :

A. -The average debt to Gross State Domestic
Product (GSDP) of Telangana from
2014 — 15 to 2018 — 19 was 16-1 per cent.

B. The States’ percentage of Own Revenue
Generation in Total Receipts 1s
deteriorating fast.

Which of the above statements is/are correct ?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) Aonly ‘ _

116. According to data of the State Transport

Department, there are 1-53 crore vehicles in
Telangana as of March 2023. Arrange the
following vehicles in the descending order,
based on their numbers :

Auto Rickshaws

Motor Cars

Goods Carriage Vehicles

Tractors and Trailers

.U.O'.UU?’

of the following countries were part of this > th ect order :
- cycling expedition ? B D A c (2) A,B,D,C
A. Vietnam B. Bangladesh 3) A,C,D,B (4) D,A,B,C
C. Ca:mbodia D. Thailand 117. Telangana State has bagged 13 out of 46
E. SriLanka . National Panchayat Awards 2023 (Appraisal
Ape SWEFa year 2021 — 22). Match the following villages
2) A, C, D and E only with t.heir cgtegory of.' awards :
3) A, B, C and E only Village and Dzsfrzct Award Category
~(4) A, Band Conly A. Gauthampur, I. Water Sufficient
114. Which of the following statements about Bhadradri - Panchayat
NISAR are correct ? Kothagudem .
A. It is an Earth-Observation satellite, jointly B. Nellutla, Jangaon = II. Women-Friendly
developed by the NASA and ISRO. . Panchayat
B. It was envisioned by NASA and ISRO C. Kongatpally, - IT1. Healthy
h tIatl;g_ht yearstagotln 50114 hedits | Mahabubnagar Panchayat
. It is expected to be launched in January . :
2024 from Satish Dhawan Space Centre. o A1pqor, Suryapet SLV. glearlllandtGreen
D.It is a High Earth Orbit (HEO)| e
observatory and will operate -for a V. Socially Secured
minimum of ten years. Panchayat
(3) A'and D only (3) A v; ' B-II. C-If D-III
(4) A and B only (4) A-IL; B-II; C-IV; D-I
o
1G-0.422-T

(35)
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118. Match the following countries based on

their ranks in World Happiness Report
& (WHR), 2023 :
r Country Rank
i A. Iceland I.  Rank One

B. Israel II. Rank Two -

C. Finland III. Rank Three

.D. Denmark IV. Rank Four

V. . Rank Five

\

Choose the correct answer :
(1) A-II; B-I; C-IV; D-V
(2) A-II; B-III; C-I: D-IV

\(3) A-III; B-IV; C-I; D-

B-II;

119. Consider the following statements :

A. .Iraq has announced in March 2023 that it
has discovered a large deposit of lithium, a
key component of batteries for electric

 vehicles and electronic devices.

Survey (USGS) report published in 2022, a
total of 89 million tons of lithium has been

- identified in the world with Australia,
Chile, Argentina and China as the main
producers.

Which of the above statements is/are correct ? 1

(1) Bonly " ‘
-(2) Both A and B

(8) Neither A nor B

120. The United Nations has organised a Regional
Workshop in March 2023 at Kathmandu,
Ne o f ;

e 'wotk’sixop 2
1) I\T;asuring Tourism : Better data for bel

urism in Asia and the Pacific

(2) Eco Tourism in Asia Pacific
Sustainable Tourism

(3) Sustainable Tourism in Asia and the
‘Pacific : Promoting Healthy Practices

According to United States Geological | .

Promoting |-

«OKPSIR
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121, Who among the following hay hey, elected a9

the head of the New Development Bank
(NDB), a m}lltilawral finaneial institution get
“up by the BRICS, in 2023 ?

(1) Former Chinese Finance Minister Liu Kup,

- (2) Anton Germanovich Siluanov, former
Finance Minister of Russia

(3) Johannes Gerhardus Strijdom, former
Prime Minister of South Africa

) Former Brazilian President Dilm
Rousseff '

122. Which of the following statements regarding
‘Olkiluoto-3’ Reactor are correct ?

“A. It is Europe’s most powerful nuclear
reactor.

It was developed in a joint venture
between France’s Areva and Germany’s
Siemens.

Construction of Olkiluoto-3 began in 2005
and is now ready after a delay of 14 years
from the original plan.

B.

It will help Belgium to achieve energy
security at a time when European
countries have cut oil, gas and other power
supplies from Russia.

poose-tire-corract answer :
(2) A,B,CandD
~ (3) B,C and D only

(4) A and B only

123. Consider the following statements :

A. Marburg Virus Disease (MVD), earlier
known as Marburg haemorrhagic fever, is
a severe, often fatal, haemorrhe}gic fever,
according to the WHO.

The Tanzanian Government reportec} the
outbreak of the MVD in March 2023 in its
north-west Kagera region.

~ Which of the above statements is/are correct ?
(1) B only
(2) Both A and B

(4) International  Tourism Boosting (3) Neither A nor B .
Economies of Asia Pacific ) Aonly
1G-0.422.7 (37)
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124, According (o the Natlonnl Organ snd ‘Tl | 197, Vi Governiment of Tidin anmiiesd stbing
Treansplant, — Organisation  (NO'I'PCO),  1he up of the VM MITRA miga tomtils parks in
following 8tates emarged as the (op fonr in the Uhe fallowing Fbsbes |
number of decensed donor transplnnts n A il Mudu ¥, Gujnint
2022, Arrange them in the deseanding order | i Wrigmirn - ’r’a/mzwm
A Tamil Nadu B, Maharashtra Ohinie Vhie earvaes, atigner |
C. Telangann D, Karnatnkn () A,B,Cand D
o sarroet order | |
) |
mmg> () ¢, D, 1A 7 ohl)

(4) B, C,AD '
iy 194, Which of the  fllowing  won the Horid
Bummit on the Tnformation Seciety (WEIS

Prims U245 1

(', 0 Ay b4y

126. The second meeting of  the  Blarlup2

Engagement  Group under Indin’s (140
Presidency was held at. Ganglok in March (1) Indiphudit, =~ which facilivates onlins
2023. Consider the following statements in wudite neross (871
relation to it ; depariments
A. Mentoring, market nceiss and funding (%) IndinOnling = which fucilivates onling
were identified as eritieal arens for prissy anice redrossnl
startups, mschanisin
’ i - ’ y A14 ¢ s
B. The need for a single window platform for (8) ""”"‘ = which facilitates on '"’:

easing access o funds and knowledys
gharing acrogs (=20  natlons  wns

highlighted,
Al ' |

C. The decision was taken o establish a
common Startup20 with Chinese initiative 120, Congider the following statements regarding
“I'he Klephunt Whisperery, the documentary

(4) AuditOnling =  which facilitatos online
fitdite aeross Panchayati

pt Shangha. that Osenr hward in 2024
. o o ¥y it won an Ogesr hward in 2024
Which of the ahove statementy Ly/are corroch ¥ A, The documentary tells the story of an
(1) A and B only m indigenous coupls named PBomman and
(3) A and C only 4) Aonly Pollie as they care for an orphaned baby
elephant,

14, The documentiry was shot in Nagarhole

126. Consider the following statements in relation National Park, Kodagy, Karnataks,

to the perfor mance of the H’"f‘”"""’ Colliorios Which of the ibove statements ig/are correct ?
Company Limited (8CCL) during 2022 ~ 24 | (1) B only

(%) Both A and 1
(4) Neither A rior B

¥

A, It hag produced more cosl than the
previous financial year.

B. It has trangported little logs than the
inancial year, due to the internal |, . )
previous financial yenr, dur to the interr 180, Which of the following research institute

ugage for its own thermal power glation, ' ’ ) v

a4 ,’ ) ’ I Wi, developed # pocket-Ariendly device to detect

C. A majority of coul mines, opencish and mille sdulteration in 80 seconds 7
underground, achicved 100% Largols. (1) 11 Hydorabad

Which of the above statements is/are correct 7 (%) The Nationsl Dairy Hesearch Institute

(1) A, B and C (NDIIL), Karnal, Haryana
(%) Aand C only> (4) The National Institute of Dairy Sclence
) Conly n‘nd fl'«;(:!itu’;lwy (NIDET), Ludbiana,

(4) A and B only (4)°111 Madrag

1G-0,422-T (49 )
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131. Consider the followin

8 pairs ;v
A. Elect i '
.r?statxc + Particulate matter
pnec;pltator
B. Catalytic converter: Carhon monoxide
and nitrogen oxides
C. ?enor qf Bengal Water hyacinth
(Eichhornia
crassipes)
D. Biochemical : Polluted water
oxygen demand ’
(BOD)

Identify the correctly matched pairs:
(1) A and C only '

(2) A,Cand Donly
(3) A,B, C and D
@

A and B only |

132. Consider the following statements ;

A. National Technology Day is
commemorated on May 11 every yéar as
India successfully conducted nuclear tests
in Pokhran. o g
Agni-III is India’s latest long range
surface-to-surface nuclear capable ballistic
missile system ' that was. successfully
tested in 2018.

Mangalyaan @ was’
5th November, 2013 with the aim of
studying t_‘.-he Moon’s

launched  on

topography,
morphology, mineralogy and atmos"phtiare‘.
U.R. Rao was the Chairman of the Indian
Space Research Organisation when ‘the
first-ever Indian sate
launched.
Identify the wrong statements :
_(1)BandC Ll Jae
(2) A,CandD "~ g

llite Aryabhata ‘w‘ﬁa‘s‘v :-

wHkPsIR

*U PSC Universe
| g
183. Match the following :
Emerging Trend Example

A. Humanoid based 1, Virtual Heality
on Artificial '
Intelligence (AT)

B. Natural language II. Drone

' processing ‘

C. Unmanned aircraft 111, Text-to-Speech

D. Operating 1V. Internet of
household devices Things
using smartphone

' V. Sophia

Choose the correct answer :

(1) A-II; B-III; C-V; D-1

Z (2) A-V; B-III; C-1I; D-IV

(3) A-II; B-1V; C-V; D-IIT.
(4) A-V; B-1V; C-I; D-1I

Msider the following pairs : 'w( ."'od\

W.S. Viswanathkn

A. Father of Green

Revolution - L
B. Missile Man of India : A.P.J. Abdul
' Kalam
C. First Indian to go to : Sunita Williams
outér space’
D. First Indian remote : APPLE
sensing satellite 7«
Identify tk @» atched pairs :

(1) A,CandD

(3) B,CandD

E G dD
(4) Aand D

$0.422.1

(41)

(4) A,Band D
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185. Consider the following statements :

A. Opti.m.ﬂl usage of inorganic fertilizers and
pesticides increases crop production.

Pesticides are toxic to non-target
organisms.

Excess fertilizer residue loaded water
inflow leads to eutrophication of lakes.

Biomagnification of harmful chemicals
poses a threat to human health.
Which of the above statements are correct ?

(1) A, C and D only

(2) d D only
) A,B,Cand D

(4) A7B and C only

B.

C.

D.

136. Consider the following statements : .

A. Circadian rhythm is endogenous rhythmic
change in organism with a periodicity of

24 hours.

B. Biological clock regulates circadian
rhythm.

C. Sleep and awake phases of humans are
due to circadian rhythm.

D. Heart-beat of humans is an example of

circadian rhythm. '
Which of the above statements are correct ?

(1) A, C and D only

(2) B,CandDonly
3) A, B and C only

(4) A, Band D only

37. Match the following with the corresponding

nanomaterial used init:

A. Sunscreen lotion I.  Nano silver
B. Textiles II. Quantum dots
C. Optoelectronics ~~ III. Titanium oxide
D. High-definition IV. Zinc selenide
television ' §
' V. Lithium oxide

Choose the correct answer :
(1) A-IV; B-II; .C-1II; D-V.
: . D-V

%) AL, B-IV; C-IIL; D-I

wOkPsIR
UPSC Universe
-

138. Consider the following statements :

A. Nuclear fuel is material used in nuclesr
power stations to produce heat to run
turbines.

B. Thorium is used as a nuclear fuel in India,

Which of the above statements is/are correct 7

(1) Bonly

(2) Both A and B

(3) Neither A nor B

139. Consider the following :

A. Gaganyaan : ISRO plans seven-day space
‘ tour with three gaganauts in 2023 for
science and technology advancement.

B. Vyommitra : A humanoid robot sent along
with  gaganauts to manage the
environmental information.

~ ' Which of the above is/are correct ?
B on.
(2) Both A and B
(3) Neither A nor B
(4) A only
140. Consider the following statements :
A. BOD is oxgen consumed by

micro-organisms and is an index of water
pollution.

B. Drinking water should have BOD level of
1 to 2 ppm.

Which of the above statements is/are correct ?

(1) B only

; ‘ (2) Both A and b

(3) Neither A nor B

(4) A only

(43)

%y Ann -
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ch the following :

141, Mat
A. Malaria I.  Plasmodium
B. Elephantiasis II.  Filaria
C. Typhoid ITI. Clostridium
D. Tetanus IV. Wuchereria

V. Salmonella
Choose the correct answer :

1) A-L; B-IIL C-V; D-IV
-0 \ » :‘ 2 C' " D'II
. . I ‘
@ AL BI5 CUL D-v -
~ 142. Match the following :
‘ A. Calciferol "1.  Beri beri
B. Thiamine II. Rickets

C. Cyanocobalamine III. Scurvy

D. Ascorbic acid | IV. Pernicious

anemia
- V. Goitre

Choose the correct answer .
(1) A-II; B-IV; C-III; D-V
(2) A-IV; B-I; C-III; D-II
o2 - D-IV

(4) A-II; B-I; C-IV; D-III
fi.order with respect to
the urine formation in human beings :
A. Formation of concentrated urine
B. Tubular reabsorption '
C. Glomerular filtration
D. Tubular secretion B
Choose the correct order: :

A . (2) B,A,D,C
(3)°A,D,B,C (4) A,C,B,D

144. The sequence of geological composit.;ion from

’ the depth to the surface of the Earth is :

(1) Mantle — Crust — Inner core — Quter
core , Jn e

(2) Outer core —» Inner core — Crust —

< (3) Innér core — Outer core — Mantla
ust

(4) Crust — Mantle — Inner core — Outer
core

1G-0.422-T

(45)

OkPSIR

. TDPSCUnvere
. The tem in F :
by perature in human body is controlled
(1) Skin )
2
il ) Cerebellum

,ﬁ’

The cheml.cal uged in aithrgs of Teneies that
releases nitrogen tg Crise : of

: s ¢ Wibleorns in on
accidents is T 8. 258 of
(1) Sodium nitrite
(2) Silver nitrate

ium nitrate
4) Sodium azide

147. Akash missile is developed 204 producs 5y
(1) NFC and BARC ’
(2) ISRO and DEEL

(3 i DEEL
(4) DRDO and BD

148. Match the Nobel Prize awardees znd their

146.

work for 2022 -
A. Ales Bialiatski : Nanomaterials and
B. Svante Paabo - Genome of extinet
C. Alain Aspect, John : Photensin
F. Clauser and Quzniom
Anton Zeilinger entsngiement,
information scence
and eryptography
D. Carolyn R. Bertozzi : Click chemistry and
Morten Meldal, bicorthogonal
K. Barry Sharpless  chemistry
Choose the correct pains) :
(1) D only
(2) A, B and C only
((3) B, Cand D oniy
(4) Aonly

149. Integrated chip is produced on a piece of

emi-conductor crystal by the process of
(1) Photolithographyy (2 Tom@Phy
(3) Cryptography (4) Embedding

150. Dieback disease in neem tree is caused by

(1) Virus . @ Fu)
(3) Algae 1) Iron deficiency

o
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